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This booklet consists of 16 pages including this front page. Verify the page Nos. and Group on each page and bring
at once to the Invigilator’s notice, discrepancy, if any.

Answer will have to be given in the Answer-Sheet supplied for the purpose.

You should write your Roll No. & Full Signature on this page (where directed) and Full name, Roll No., Centre of
Examination, Booklet Group & Full Signature with date (where indicated) on the Answer-Sheet in BLACK Ball
Point Pen.

All questions are of multiple-choice answer type. You will find your probable answers (A), (B), (C) & (D) against
each question. Find out which of the four answers appears to you to be correct. NOW DARKEN COMPLETELY
WITH BLACK BALL POINT PEN WITHIN THE CIRCLE BELOW THE LETTER OF THE SELECTED ANSWER
IN THE ANSWER-SHEET AS SHOWN HEREUNDER :

Example— Question :  Kolkata is the capital city of—
(A) Bihar (B) Assam (C) Orissa (D) West Bengal
Answer : (A) (B) (&) (D)
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i) If more than one circle is darkened for a particular answer it will be treated as an incorrect/wrong answer.
ii) Any sign other than complete darken inside the circle will be treated as incorrect/wrong answer.
There are 100 questions carrying 2 (TWO) marks cach.

THERE WILL BE NEGATIVE MARKING. I (ONE) MARK WILL BE DEDUCTED FOR EACH WRONG
/ INCORRECT ANSWER.

There is/are extra blank page/s at the end of this booklet for rough work. The sheet should not be torn out from the
Test Booklet.

Candidates are not allowed to use Calculator, Pager and Mobile Phone or any other type of electronic gadget
of communication in the Examination Hall.

The Entire Set (Answer-Sheet & Test Booklet including used/unused extra pages) should be handed over to
the Invigilator before leaving the Examination Hall.

You are warned against adoption of any unfair means at the examination. Any report in this behalf from Centre
Supervisors or Examiners may lead to instant cancellation of your examination and debarment from appearing
in future examinations/selections.
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The deflection at the free end of a
uniformly loaded cantilever of length
1m is 7.5 mm. The slope at the free
end is

(A) 0.011 radian
(B) 0.015 radian
(C) 0.02 radian

(D) 0.025 radian

The radio of moment carrying
capacity of a circular beam of
diameter ‘D’ and square beam of
size ‘D’ is

(A) n/3

(B) n/4

(C) 3n/8

(D) 3n/16

If s is the shear strength, ¢ and ¢ are
shear strength parameter and o, is
the normal stress at failure, then
coulomb’s equation for shear
strength of soil is

(A) ¢c=s+ oy tang

(B) ¢c=s—o0ptang

(C) s=ont+ctang

(D) s=c¢—optang

The residual by product of the
destructive distillation of coal is
known as

(A) Asphalt

(B) Tar

(C) Bitumen

(D) Cutback

Bureau of Indian Standards
classifies bitumen into grades 65/25,
85/40 etc. The 1°¢ and 2" numbers
respectively refers to

(A) Softening point and penetration
(B) Penetration and softening point
(C) Flash point and penetration

(D) Flash point and softening point

The carbon content of structural
steel is

(A) Less than 0.1%
(B) 0.1% to 0.25%
(C) 0.25% to 0.60%
(D) 0.6% to 1.00%

Plastic bitumen is generally used
for

(A) Crack filling
(B) Expansion joints
(C) Road pavements
(D) None of these

Brass is an alloy of

(A) Mild steel and copper
(B) Zinc and copper
(C) Copper and lead
(D) Zinc and nickel

A propped cantilever of span 4 m is
fixed at A and propped at B carries
a UDL of 1 KN/m over the entire
span. The prop reaction is

(A) 2.5KN
(B) 2 KN
(C) 1.5KN
(D) 1 KN
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10. For a circular column having both 14. Aretaining wall retains a sand strata
ends hinged the slenderness ratio is with ¢ = 30° upto top. If a uniform
160, the-'& ratio of the column is surcharge load of 120 KN/m”2 is
(A) 80 put on the sand strata, then the
(B) 60 increase in the lateral earth pressure
(C) 40 intensity on the wall will be
(D) 20 (A) 10 KN/m"2
(B) 20 KN/m"2
11. The bearing of C from A is N30°E (C) 40 KN/m"2
and from B which is 50m east of A, (D) 80 KN/m"2
is N60°W, The departure of C from
Ais 15. The maximum shear stress of
(A) 43.3m rectangular beam of width 100 mm
(B) 25m and subjected to a maximum shear
(C) 1443 m force of 60 KN, is 4 N/mm*2. The
(D) 12.5m depth of the beam is
(A) 150 mm
12. The radius of a simple circular (B) 225 mm
curve is 300 m and length of it’s (C) 200 mm
specified chord is 30 m. The degree (D) 250 mm
of the curve is
(A) 5°37' 16. A simply supported beam of ‘T’
(B) 5°73' section having total depth of 100
{C) 3°57 mm and depth of N.A. at 25 mm
(D) 3°75' from top of the flange, is subjected
to a u.d.l.. The ratio of maximum
13. Indian Road Congress was founded tensile stress to maximum

and constituted with its
headquarters at New Delhi in

(A) 1924
(B) 1930
(C) 1934

(D) 1942

compressive stress in the beam is
(A) 3

(B) 2.5

(©) 2

(D) 1.5
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17.

18.

19.

The effective length of a weld is
taken as the actual length

(A) Minus the size of the weld

(B) Plus the size of the weld

(C) Minus twice the size of the weld
(D) None of these

As per IRC the camber on cement
concrete road should be

(A) 1in 60 to 50
(B) 1in45to 60
(C) 1in20to 24
(D) lin12to 16

If base period is 100 days and the
duty of the canal is 1000 hectares
per cumec, the delta of crop will be

(A) 0.864 cm
(B) 8.64 cm
(C) 86.4cm
(D) 864 m

The trap used for water closet is
called

(A) Gully trap

(B) P-trap

(C) Intercepting trap

(D) Antisiphon trap

What is the most common cause of
acidity in water?

(A) Carbon monoxide

(B) Nitrogen

(C) Hydrogen

(D) Carbon dioxide

22,

23.

24.

25.

A beam ABCD 10 m long simple
supported at B and C at 6 m apart
with equal overhang AB and CD of
each 2 m. A point load of 12 KN is
applied at A and ‘W’ at D. The
magnitude of reaction at C will be
zero if the value of ‘W’ is

(A) 2KN

(B) 2.5KN

(C) 3KN

(D) 6 KN

Which one of the following
aggregates gives maximum strength
of concrete?

(A) Rounded aggregate
(B) Elongated aggregate
(C) Flaky aggregates
(D) Cubical aggregate

As per IS code of practice concrete
should be cured at

(A) S5°

(B) 10°

(L) 28

(D) 40°¢c

Carpet area does not include the
area of

(A) Verandah, corridor and passage
(B) Kitchen, pantry and lavatory
(C) Walls, bathroom and storeroom
(D) All the above
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26.

27.

28.

29.

Out of two beams of same material
and same cross sectional area, one
is of circular section and other is of
square section and each subjected
to same bending moment, then

(A) Both sections will be equally
strong

(B) Square section would be more
economical than circular section

(C) Circular section would be more
economical than square section

(D) Both sections would be equally
economical

Mastic asphalt is

(A) Acid resisting material
(B) Corrosive material

(C) Heat resisting material
(D) Non corrosive material

Dorry’s testing machine is used for

(A) Crushing test of stone
(B) Impact test of stone
(C) Hardness test of stone
(D) None of these

The presence of sand in brick earth
presents

(A) Warping of bricks

(B) Cracking of bricks

(C) Shrinkage of bricks

(D) None of these

30.

3.

32.

33,

For complete hydration of cement
the water cement ratio needed is

(A) Less than 0.25

(B) More than 0.25 but less than 0.35
(C) More than 0.35 but less than 0.45
(D) More than 0.45 but less than 0.6

Gypsum is used as an admixture in
cement grouts for

(A) Accelerating the setting time
(B) Retarding the setting time
(C) Increasing the plasticity

(D) Retarding the grout shrinkage

The raw materials used for
manufacturing of high alumina
cement are

(A) Lime stone and bauxite

(B) Limestone, bauxite and gypsum

(C) Limestone, gypsum and clay

(D) Limestone, bauxite, gypsum and
clay

The ratio of maximum shear stress
to average shear stress for a circular
section is

(A) 2

(B) 2/3

(C) 4/3

(D) 3/4



























